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) VWhat s Commercal Policy ?
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(¢) Descnbe the imponance of road trang.,~
of India
wra & wew fraed & gem w1 vl W
(d) Write five problems of Cement Industry
iz Tam ) ote wwamed F fad

2 Define Economic Development. Is economic

development desirable ?

wifds famra € ofrarn 2 | s = fawm aradia
b

3 Explan the sahent features of indian Economy

unda sdaraan & favm Ao w aets |

4 inthe ght of your expenence suggest measures

to get better result of Indian Plans
WA A ST W areg gyt & aee g
UK %13 & I9G & gwra 2 |

5. Define New Economic Policy What are the

features of new economic reforms ?

af snfde fifa &) gfnafen st | 72 snfds quit &
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6 ' Describe the problems of Iron and Steel Industry

in India. What is the solution of facing the
chalienges ?

Wi & Ao 2y Tom ) amanadt & avfa w®
ghfaat ® wmn #2 F oo am an k7

T Explain the main provisions of Industrial Policy,

1991 Account for its critical apprasal

sanfis fa, 1091 & gua yrauTst = Aoty Wt A
THE] WTENTaATS Fare &1 |

8 / Describe the measures to increase agricultural

production and productivity
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